Hello!	Last Updated	10/7/24
Use the tabs at the bottom of this sheet to look at results from each grade. Classes are listed in alphabetical order on each sheet.		
	Total Rasied	\$9,318.00
Remember that the class with the highest " <i>Average per Student</i> " donation in each grade will get an extra recess during a future week this year.		

Teacher	Average per Student	Total Students	Total Raised
Hallameyer	\$10.53	19	\$200.00
Rosenzweig	\$30.68	19	\$583.00
Sokol	\$56.50	20	\$1,130.00
Williams	\$15.39	18	\$277.00

Teacher	Average per Student	Total Students	Total Raised
Durn	\$9.32	22	\$205.00
Harrison	\$23.10	21	\$485.00
Lowery	\$15.91	22	\$350.00
Miller	\$3.81	21	\$80.00

Teacher	Average per Student	Total Students	Total Raised
Hemling	\$9.09	22	\$200.00
Hershey	\$7.62	21	\$160.00
Miller	\$10.23	22	\$225.00
Sample	\$42.50	22	\$935.00

Teacher	Average per Student	Total Students	Total Raised
Corun	\$15.00	25	\$375.00
Frank	\$21.73	26	\$565.00
Homsher	\$17.69	26	\$460.00
Wells	\$39.04	26	\$1,015.00

Teacher	Average per Student	Total Students	Total Raised
Maloy	\$7.65	20	\$153.00
Martin	\$3.00	20	\$60.00
Ragan	\$1.00	20	\$20.00
Stauffer	\$18.75	20	\$375.00

Teacher	Average per Student	Total Students	Total Raised
Abbott	\$20.96	26	\$545.00
Dlugokenski	\$12.20	25	\$305.00
Fatkin	\$8.85	26	\$230.00
Prestianni	\$15.40	25	\$385.00